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A BIBED
M HEFEH
&t =22F YA CEREED
SN HB SR (BIH) - A - B S 0l &b S D=2
T - = EECES &= Ol AFOH s
o233 ¢ dAl 348
OZ&st&E4a & 17,4003 * 2000 2 348
OIPNE=F=1=IE=IN]=[}| 2,700
O=Sst&4 |X2eldl 300,000& * 9K 2,700
MZaedl 23 10,922 10,922 0
101 21 2d| 6,922 6,922 0
04 D12 HZ22 X SE 6,922 6,922 0
OM2EHl 124l
34,6108 = 101 » 43| 5 6,922
206 M= Hl 4,000 4,000 0
01 =l 4,000 4,000 0
O=dalg 7Y 40,0002 » 50m" = 23] 4,000
MEHSHE SR AL 774,000 1,454,000 680,000
= 542,000
i 232,000
401 A& HIS 2 CHYI 774,000 1,454,000 680,000
= 542,000
= 232,000
01 Al£HI 769,500 1,454,000 A684,500
OlAI&HI] 769,500
OMEHCIE S & ALY 769,500,000& * 14 769,500
= 538,900
= 230,600
03 AlZ 2 0HdI 4,500 0 4,500
O[=0Hdl] 4,500
OMEHSIE S RIAIY
774,000,000& * 0.5813% 4,500
= 3,100
= 1,400
oY 2ERMYD| XS AX 2 = 186,000 214,286 A 28,286
= 130,000
= 56,000
101 @124 4| 65,412 62,298 3,114
= 45,788
= 19,624
04 JIZtHIZ22XNHSE+ 65,412 62,298 3,114
ORMHII+=H Y
36,3403 * 202 » 80 58,144
= 40,700
= 17,444
OfsMYII=HARY U2 =
58,144,000& = 0.125 7,268
= 5,088
= 2,180




SN BHARHED
E: LRBABH
Sl SEYYN| (et & 2
_ _ _ N E
SA - M. SR(F) - MPAY - BAS Off &F oA Gl o bRz
201 YBr2 | 110,588 57,000 53,588
2 77,212
2 33,376
01 AtR2t2lH] 90,588 52,000 38,588
Oler+gHI] 55,568
osMYIIH 228 7Y
5,568,008 * 14! 5,588
2 3,712
2 1,876
ORRMYIIH 248
50,000,0008 * 14} 50,000
2 35,000
2 15,000
Olgxz] 35,000
OSRMYI| 27 H8t AX2
35,000,0002 * 14} 35,000
2 24,500
2 10,500
02 ZZ2YH| 20,000 5,000 15,000
Olxtzraey] 20,000
ORSMYI £HH2l RERY
1,789.59%0 * 232.82 4 » 4CTH * 122 20,000
2 14,000
= 6.000
401 Al & HI L2 THY| 10,000 10,000 0
2 7,000
2 3,000
01 Al&H] 10,000 10,000 0
OlAI&HI] 10,000
O=RMYI| X B4
10,000,0002 * 14} 10,000
2 7,000
= 3,000
IEELBIHANE FHK 737,891 780,715 £42,824
IHESEBTHIAE 29 737,891 780,715 ~42,824
201 YBr2 | 169,955 304,915 134,960
01 AtR 22| 109,525 120,505 £10,980
Olger+gH] 109,525
ONE2LTIHRIAL SR+ 2BAAL2
260 &) 82,1202 * 23] 365
ONE2LTAN S2AM 242
400,0002! * 23] 800
OHIATRZE 2 80,0002 * 23] 360
OERL AN ALHI|
45,0008 * 200% * 122 108,000
02 B2 60,430 84,410 123,980




SN SHABSAY
H: xS HEA
SRl JIIEELIBXHIAILE FEHIH (&te @
- _ _ P NE e
2AH -3 - SH2A(SH) - MEAMY - BHES 0] Ao oﬁ/ﬁiﬁ Hl =2
O[2222 < HAI 11,430
OJ=EELZTHRAE 29 2522
952,500 * 122 11,430
O[A&ZHISXIHl] 49,000
OCCTVItOI 2t S XlI22lH] 200,000 * 5CH 1,000
ONERL2ZHMelAA SX22ll
4,000,0002 * 122 48,000
206 M 2H] 115,800 115,800 0
01 24 115,800 115,800 0
ON=E2L2ZXHIAE 2HAZY|
9,650,00084 * 122 115,800
307 @12+01 & 452,136 360,000 92,136
05 QI2RIEHZ 452,136 360,000 92,136
OI=222ZHIIAIE 29HI(DEH])
37,678,00034 * 128 452,136
Hol2 2 4,563,859 6,084,175 A1,520,316
= 926,600
[= 24,950
= 3,612,309
HoIE2 HMel 218,632 210,800 7,832
= 26,600
[= 24,950
= 167,082
A=HHY 2HEH2 X2 97,600 75,000 22,600
= 23,600
[= 14,800
= 59,200
301 Lt AZ 97,600 75,000 22,600
= 23,600
[= 14,800
= 59,200
12 JIEtE A2 97,600 75,000 22,600
OHHIY4N&e=2 X2 502 » 1,952,000k 97,600
= 23,600
[= 14,800
= 59,200
Sokdly AHE MXALY 7,500 7,500 0
[= 3,750
= 3,750
206 M 2 H] 7,500 7,500 0
[= 3,750
= 3,750
01 XH 24| 7,500 7,500 0
Osoglg £ 2 500,000 = 1504 7,500
[= 3,750
= 3,750




A B2
M I 2L

= oo
@2l HIlZE HMel (SH:®2)
_ _ _ pSNE N
SN HH G (EH) - MBAY - BYS 01l &+ o4 LS s
SYHDOIZ &2l 45,032 44,080 952
101 2124 d| 32,336 30,949 1,387
4 D12t 22 RS2+ 32,336 30,949 1,387
OoMYDl SYEED| & o2
36,3402 * 621 * 120 26,165
OFs=g 26,2503 * 62! » 4 « 6& 3,780
O4UBEE=2 (AL, d3, 08, 40)
24,958,246 * (0.0958 2,391
201 B2 H| 9,996 8,831 1,165
01 At 22l bl 7,500 6,494 1,006
Oofget=&dl] 4,200
OHJI=ZE28EI d0® HEH
60,000& * 54 = 11l & - H 3,300
OMEIIIEYED Ols4l 2AItHer o8-
px sl 150,000& * 304 = 23] 900
olgxz] 1,500
OHJIE S8 &2 HHAES
300,000& * 53| 1,500
Ol[3&l] 1,800
OHJIZ2 tH&EgA NEHE A2del
1,800,000& * 14 1,800
02 2=22gHl 2,496 2,337 159
Ool2222 % HAI 1,896
OUSAE SEED| Jtilet AHY AMAE=
30,000 * 4CH = 123 1,440
OUZ24aY S-EI| Sttt ®IIR23
9,500& * 404 » 12& 456
O[AIE & HIRXHl] 600
OUEatH SHEI| ZAIStHI2H ==2ltl
50,000& * 12CH 600
202 44| 2,700 2,700 0
01 SLHA b 2,700 2,700 0
OHJIZ2 th&ega ANEHE oyl
2,700,000& * 14 2,700
HAME =&Xel 46,500 44,000 2,500
201 LBr2gH| 3,500 3,500 0
01 AtR2tel bl 3,500 3,500 0
Olgers=&gHl] 700
OHJIMME tiZE &+ M
70,000& = 107K 700
olgxtz] 2,800
OHIIMME RIEXel E™H 2dX=
450,000& * 43| 1,800




2N BABHDY
M I 2L

e HIlZ M (el =3
_ _ SIEN
SN H - SR(EH) - NPAMY - BES 0fl &t o il i~ o HZ2
OHEZS X EHYXE
200,000 * 52 1,000
307 21Ztol ™ 43,000 40,500 2,500
05 QIR &= 43,000 40,500 2,500
OHgd=Xl ?&XHcltl 250,000& = 100& 25,000
O2H&HIIZ f/IEXeldl  300,000& » 60& 18,000
dsHllE ¥ IS =8AIE XM 16,000 40,220 224,220
= 6,400
= 9,600
401 Al EHIZ 2OHY| 16,000 40,220 A24,220
& 6,400
i 9,600
01 A& HI 16,000 40,220 A24,220
O[AI&Hl] 16,000
gdsHlE ¥ S =8AIE £X
8,000,000& = 2JH A 16,000
= 6,400
= 9,600
SdIOIEMelXE AlEA 6,000 0 6,000
= 3,000
= 3,000
403 KX SHHIS =01 & 6,000 0 6,000
= 3,000
i 3,000
02 271 2SO0l CHeHCH el A I 6,000 0 6,000
Os=doIE HMel NEAY  2,000,000& * 3= 6,000
= 3,000
= 3,000
HIOISX2IAE ¥ FRO0IS F=FAS 2,549,611 4,127,700 A 1,578,089
= 900,000
= 1,649,611
S8 HIISHelAE A 2,700 2,700 0
202 (44l 2,700 2,700 0
01 LA 2,700 2,700 0
O3 ANE d&R HAE 900,000& = 32l 2,700
HI?I 40 & X HH 1,217,411 1,200,000 17,411
= 600,000
= 617,411
201 L2 9,711 0 9,711
01 AR 2t eld| 9,711 0 9,711
OHIRIMIHE X AlE 24HI=
9,711,000& * 14 9,711
401 Al EHIZ 2OHY| 1,207,700 1,200,000 7,700
= 600,000




SN BHARHD
I‘IiH: H_:“jl% DC,F 2F
A& 2 Z=p0rg Fos

el mHoleH™e 9 Dl == 2l AL (&te @
) B bolEN= —~
2N -3 - c2(3H) - NEME - HES 0] Ao @E% Hl =2
= 607,700
01 Al&H] 1,207,700 1,200,000 7,700
O[AI&HI] 1,207,700
OHIQI MO Xl FHIAIY
1,200,000,000 * 14! 1,200,000
= 600,000
= 600,000
OHIQIMIE X ARE2E L AHES HE
500,000 * 43| 2,000
OHIFAMMEX RE=7 B
2,500,000 * 23] 5,000
OHIAMIEX A2 B4HI2
350,000 * 23] 700
DelstANRAME F=HoS X 504,500 1,000,000 495,500
402 QI2E X0 A 504,500 1,000,000 495,500
01 QIZIX=28 X 504,500 1,000,000 495,500
OIS HRAHLEH =02 XK
500,000,000 * 14l 500,000
OMYIIZ2SE BHOHCHZ 10% X
45,000,000 * 10% 4,500
HII2XM2IAIE =S 225,000 925,000 700,000
401 A& HI 220 225,000 925,000 700,000
01 Al&H] 225,000 925,000 700,000
OHJISHEIAE FHOIE FU=SAALY
225,000,000 * 14l 225,000
A2AIE HEE| ALY 600,000 0 600,000
= 300,000
= 300,000
401 A& HI L =20 600,000 0 600,000
= 300,000
= 300,000
01 Al&H] 596,220 0 596,220
O[&AIEAHE ¥ B2EAHI] 19,000
OAxZAIE HEZ3 =AY AAIEAYI
19,000,0002 » 14l 19,000
= 9,500
= 9,500
O[Al&HI] 577,220
OAZAIE HLE3 ALY
577,220,000 * 1Al 577,220
= 288,610
= 288,610
03 A& 201 3,780 0 3,780
O[=2HHI] 3,780




S B2 D
=S PIE=gETE
Sol: HIISXEIAE L FH0S FoSAAY (Etel:&e)
_ _ _ N E
SA-EFH - SA(SAH) - MREAY - BES Off &F K ‘Oﬁ,‘\jg‘; Hws2
OAZAS HEaSA SO
600,000,000% * 0.63% 3,780
= 1,890
= 1,890
HIISHeIAL 2% 1,736,676 1,696,275 40,401
JRISITAME (A 2AE)2Y 1,560,018 1,474,318 85,700
101 Q1248 37,275 32,313 4,962
04 JIAR2ERSE 37,275 32,313 4,962
ORILAIRE Q2|
36,3409 * 391 * 260 28,346
ORSFULANRY FE4Y
36,3401 * 301 * 522 5,670
ORSFULANRE 4H2E2
36,340,000% * 0.08968 3,259
201 2Bre | 311,130 318,307 AT ATT
01 Ak 22l 74,150 87,771 A 13,621
Of2et4gH|] 72,050
OHIATH Melbl 176,009 * 15€ = 12 31,680
OCHOIS Al 2 AtHI 4,500,008 * 13| 4,500
OTNSE =24 At 4,320,002 + 13| 4,320
OHZEYe| FIIZAH 150,008 + 13| 150
OTHIIBHE I A RIS HHI
48,0008 * 503 22,400
OAYBEHHUAALHE
3,000,008 * 14| 3,000
OJIEHHIZ (D1, J2lA £ SZDAYI)
500,0008 * 122 6,000
Olm =] 2,100
oOXY=E AY 150,008 * 301 * 23 900
OQFS, Xat, HIR, got= S
0,008 * 55 * 69! 1,200
02 BB22H| 236,980 230,536 6,444
Ol2222 % MM 126,960
O42AE 29 FHIIQ2
9,750,0008 * 122 117,000
OA2AE +Z232 633,33 * 128 7,600
ozler AR
200,0008 * 13| 200
0zl ¥ 180,0008 * 128 2,160
Ole 2] 10,440
0422 BX0I2
1,45021 * 6002 * 122 10,440
OlA& =Y 83,580
OJIAHANE B48 224 B
90,0002 * 105 * 244 1,800




SN BESHD
My HOl2 2
Sol HII2HeIAlE 29 EEREED
= — PSS
SN -EHH . (B) - MPAY - BE2 0 Ak o4 Sl aton HRE2
OANEE szl &7
90,0002 * 18] * 204 180
OTMS= Kl 22| 9| 1,800,000& = 12& 21,600
OHZLHSY 225 7Y
80,0002 * 14! 800
OALAEBEY SN2 (01, HIILE)
5,350,000& » 12& 64,200
O[xt&detyl] 11,000
ogexY S ¢zl
250,000& * 3CH * 12& 9,000
ORFHY U ADEY)
83,333& * 204 ~ 123 2,000
206 T 24| 76,950 76,950 0
01 =4l 76,950 76,950 0
OZXNAE 2HA4SHI 6,000,000& » 123 72,000
O22AAA HIATH H2lg E7Y
6,600 * 75004 4,950
307 21Ztol 1,131,663 1,046,198 85,465
05 BIZtRE = 1,131,663 1,046,198 85,465
O22AAA SAS2YHI (DY)
94,305,250& * 12& 1,131,663
405 &k S| 3,000 550 2,450
01 MMt =SZFH=HI 3,000 550 2,450
O22AAE DU AT W) &3
3,000,000& = 1CH 3,000
sZEHJISMelAEZ(HEAIE)2S 64,237 113,201 N48,964
101 21 24H| 23,809 20,633 3,176
04 JIZtHZ2Z2 S E 23,809 20,633 3,176
OFOIZAIRE 212y
34,6003 * 221 x 260 17,992
OFDIZAREY FE4E
34,6108 * 201 » 522 3,600
OFDIZAIRY 40 28R
21,598,000& * 0.10264 2,217
201 fEt=24Ed| 30,628 82,768 Ab52,140
01 AtR2tel 2,288 15,288 A 13,000
CIEE==TT) 2,288
ODHEIE Xots +B2AA 242
168,000& * 3= * 33l 1,512
OMEE HES A
194,000& = 43 776
02 2244 28,340 67,480 A39,140
Ol2222 % XA 11,180
OMEAE 28 HIIR= 666,666 ~ 128 8,000




A S#ABED
M HIIS 2
el HIIEM2ALE 29 (St &=
_ _ _ HE T =
2AH -3 - SH2A(SH) - MEAMY - BHES 0] Ao Ofl At ot Hl =2
OHBAIE 2% 2592 83,3332 * 12¥ 1,000
OHEAIAE M23H AIR2
22,9162 * 43| & * 122 1,100
OOHAIA FI|Qr™ | CHEHH|
90,0002  12& 1,080
O[A&ZHISXIHI] 17,160
OCCTVItO2t |XI22/H  216,0002 * 10CH 2,160
OUHREAIE KXI22IH] 833,333 * 12& 10,000
OFHIKXHI (24D 2 38)
416,6662 * 128 5,000
206 M 2 H] 4,800 4,800 0
01 2] 4,800 4,800 0
OAZEH (EH, AS, &5 5)
400,0002 * 122 4,800
401 Al H 2L 20| 5,000 5,000 0
01 Al&H] 5,000 5,000 0
O[AI&HI] 5,000
OlE A =& 15,0009 * 333.3m 5,000
ZMEZI|BAIE 29 95,321 91,656 3,665
101 @124 4| 62,121 53,856 8,265
04 JItRIRR2AIEE S 62,121 53,856 8,265
OoNsgzdg o8
36,3402 * 501 * 2602 47,242
ONgEHE 282 =544
34,3562 » 501 » 55 9,448
OME2E4) 22 40 282
35,496,732 * 0.153 5,431
201 L2 A 21,200 31,800 A 10,600
01 At2 221 4,500 6,000 A 1,500
Ol ] 4,500
OMESHEAL 2FHE PU(ARE S)
375,000 * 129 4,500
02 2229 16,700 25,800 29,100
OI2Z222 2 MAl 500
OME2HHEAL 29 £E22
41,6669 * 12012 500
O[A&ZHISXIHI] 9,000
OTHEZI|EAIE S22/
750,000 * 122 9,000
OI[Xtzta et ] 7,200
ONMEB2E 28X S
600,000 * 122 7,200
206 M 2 H] 12,000 6,000 6,000




HEB A
DHDI2 2
HIIEXH2AE 2

SN -ZH A (ZH) - MFAY - BES Aol a4 Hlw &2
- T o/, ° . [= Bl e =5 0:”/‘l|_% Lsa
01 X = bl 12,000 6,000 6,000
OLZH(&S, A5 25, E52H S)
500,000& * 12& 6,000
ONEEE +IiH2lE =% 22
4,000 * 1,5000H 6,000
A= ZTAE 22 17,100 17,100 0
201 L EH2FH| 17,100 17,100 0
02 2323l 17,100 17,100 0
O[AMEHBIRXIHI] 17,100
oY= LTTAE KAl
1,200,000& * 12& 14,400
OXNSHOEE == 2,700,000 » 14 2,700
SASMY Dl 2l 58,940 49,400 9,540
SASMd Dl ™el 58,940 49,400 9,540
201 LEH2FH| 4,100 4,100 0
01 AR 2teld] 4,100 4,100 0
Olger=+=&Hl] 4,100
OsAaSMY Il EJI=H 8 SHIE M
70,000& * 2004 1,400
OBAZMY Il EJI+=H 22 M
2,700,000& * 14 2,700
206 M = 4| 13,500 0 13,500
01 MHZ I 13,500 0 13,500
OSASMYI| MR +X8I| 7Y
60,0003 * 225J4 13,500
307 SI2H0| & 41,340 31,800 9,540
05 QIZtREZ 41,340 31,800 9,540
OsASM4d D] fIE Xl
53,000& = 13& * 60 41,340
Azl 717,006 527,424 189,582
MEMg D] 2 361,355 181,889 179,466
MBMY Il AKX 329,996 158,845 171,151
101 el d| 66,768 66,417 351
04 JI12HHZ22NSES 66,768 51,877 14,891
Oli=saH HA 12
36,3403 * 521 * 260 47,242
Olisad 4 RY AHEE=
29,581,699& * 0.153 4,526
OEZFHAA I=Hl(0rZX) ) 14,500
Oor& =7| 50,000& * 2021 * 23| 2,000
oxg= 100,000& = 34¢! = 23| 6,800
oo+t 50,000& * 6021 * 13 3,000




SN

8
M Zapel
el MEMD| e (25l &2
_ _ _ N E
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 Gil it o Hnz2
o=t 26, 16321 * 650! 1,700
02X 15,3842 * 650! 1,000
OBZFOIGIRY U T2HAY 242
7,0008 * 71.49! 500
201 YEr2gy| 20,878 9,878 11,000
01 AtR2t2It] 6,728 6,728 0
SIEITES=11T) 6,728
oMBMYI ERES M
4,500,000% * 14! 4,500
OMEMYI| SHHWELD AEIH K 800
IR b 3002 * 1,3330H 400
0 SAEMY D] 3008 * 1,3330H 400
OBBOISQY AL
7,0002 * 349! * 63l 1,428
02 B2 14, 150 3,150 1,000
Olxg e etul] 4,150
OIS BAXIZ 2| 4,150
0RE0 1,789%1 * 1,760.7 4 3,150
o &t 250,008 * 43| 1,000
O80Iate SXES 9Ist FAUY AHIA|
S ax 714,285 * 14CH 10,000
202 04t 3,000 3,000 0
NENEEL 3,000 3,000 0
OME MBI +I1=0l oft]
3,000,0008 * 14! 3,000
206 T 2 bl 73,950 69, 150 4,800
01 HEHI 73,950 69, 150 4,800
O=el4lg 122 7Y
4,5002 * 10004 * 1194 4,950
OMY Il SSH =25 M= 602 + 750,000 45,000
OgASMY) BE)| YRR NN
420 * 1,000,00004 24,000
307 21201 & 3,500 5,000 A1,500
04 BIZHE AR X 3,500 5,000 A1,500
OUsHES 2 SAIKR 3,500,002 * 18] 3,500
401 Al&HI L S THY| 21,000 0 21,000
03 Al & S CHH] 21,000 0 21,000
OlAI&H] 21,000
O8NS =N =
21,000,0002 * 14} 21,000
405 Xt &HE St 140,900 5,400 135,500
01 ML SEH S| 140,900 5,400 135,500




SN BASHD
M Zapel
el MEMD| e (25l &2
_ _ _ Muo
SA-EFH - SA(SAH) - MREAY - BES Off &F K Ol AF o8 Hws2
OMEEE 22+ 8717
300,009 * 1874 5,400
OFAXY HHI 32,500,000 * 4CH 130,000
OZ0ISY XA SH2S 98t 1= M
ol S HogE Y 500,000% * 11CH 5,500
L2ANE RR2E 24,509 16, 180 8,329
201 YEre gt 24,50 16, 180 8,329
01 At 22|t 20,359 13,300 7,059
SIEITE==11T) 13,000
OWYEXGH: L A4 +BAML4E
2,000,0008 * 43| 8,000
OAISHEIE HIIZAH 5,000,002 * 13l 5,000
olgxz] 7,359
OHIIZHEANE SXABR
1,50020 * 4,906 7,359
02 3B 2| 4,150 2,880 1,270
OlxZ e Bthl] 4,150
OWYZEHES 281 R
1,789%1 * 146.7 4 + 122 3,150
OXSBUISKE L 425
83,3332 * 122 1,000
IEHIZ 25 6,850 6,864 A14
201 Yere gt 6,850 6,864 A14
01 At 22|t 6,850 6,864 A14
Olgst+2Hl] 6,850
OREHHZR2E 428 2 4,450
o ZH 2,0002 * 2,00004 4,000
0BY 2502l * 1,800% 450
OZREHMEZRESS 84% S 222 M
50,0002 * 1224 * 23l 1,200
OBATAHY 49 M
60,0002 * 2074 1,200
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